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SELF ASSESSMENT TEST SOLUTIONS

1.	
1
α

 + 
1
b

  =  	
β + α

αβ
 =  

7/5
2/5  = 

7
2  	

2. 	 9 	  

3.	 3	

4.	 (C)

5. 	 (A) 	

6. 	 (b)	

7.	 (B) 	

8. 	     6x2 + x - 2    = 6x2 + 4x - 3x - 2

						      = 2x (3x + 2) - 1 (3x + 2)

			          		  = (3x + 2) (2x - 1)

	 \ Zeroes are - 23 and 12

	   Sum of zeroes 	= 12 - 23 = - 16, 	

		     	   Also - ba 	 = - 16 

   ⇒   Sum of zeroes 	 = -ba

     Product of zeroes 	 = 1
2  x -2

3  = -13 , 

			       Also c
a  	 = -2

6  = -13  

	 ⇒ Product of zeroes = ca
9 	 3x2 – 8x + 4    =   3x2 – 6x – 2x + 4

						      =   3x (x - 2) - 2 (x - 2)

						      =   (3x – 2) (x – 2)

		 \   Zeroes are 2
3  and 2

	   Sum of zeroes 	= 2
3  + 2 =   8

3

  Product of zeroes 	= 2
3  x 2 =   4

3

	                      -ba  	= - (-8)
3  =   8

3

					        ca 	=   4
3
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	 Hence Sum of zeroes 	=   -ba

		      Product of zeroes 	 =   c
a

10.	 2x2 + x - 10 =  2 x2 + 5x - 4x - 10

					     =  x (2x + 5) - 2(2x + 5) 

					     = ( x - 2) (2x + 5)

	 \ 	 Zeroes are 2 and 
-5
2

	 Sum of zeroes 	 = 2 + ( -5
2

) = 
-1 
2

		    Also, 
-b 
a

	 = 
-1 
2

 Product of zeroes 	 =  2 × 
-5 
2

 = –5

	           Also, 
c 
a

	 = 
-10 
2

 = -5


